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July 2, 2024


Hello!


Thank you for picking up a copy of All the Verbal. I hope this book provides just the guidance you need to get the most out of your GMAT studies.


At Manhattan Prep, our goal is to provide the best instructors and resources possible. If you have any questions or feedback, please do not hesitate to contact us.


Chat our Student Services team on our website, email us at gmat@manhattanprep.com or give us a shout at 212-721-7400 (or 800-576-4628 in the United States or Canada). We try to keep all our books free of errors, but if you think we’ve goofed, please visit manhattanprep.com/GMAT/errata.


Our Manhattan Prep Strategy Guides are based on the continuing experiences of both our 99th percentile instructors and our students. The primary author of the 8th Edition All the Verbal guide was Stacey Koprince and the primary editors were David Mahler and Jeff Vollmer. Project management and design were led by Prakash Jagannathan, Mario Gambino, and Helen Tan.


Finally, we are indebted to all of the Manhattan Prep students who have given us excellent feedback over the years. This book wouldn’t be half of what it is without their voice.


And now that you are one of our students too, please chime in! I look forward to hearing from you. Thanks again and best of luck preparing for the GMAT!




Sincerely,
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Stacey Koprince


Director, Content & Curriculum


Manhattan Prep








www.manhattanprep.com/gmat













The GMAT Mindset


The GMAT is a complex exam. It feels like a strictly academic test—math, reading comprehension, data analysis, logical reasoning—but at heart, the GMAT is really a test of your executive reasoning skills.


Executive reasoning is the official term for your ability to make decisions in the face of complex and changing information. It makes sense, then, that graduate management programs would want to test these skills. But how does the GMAT test executive reasoning skills? Understanding this will impact both how you study for the GMAT and the decisions you make as you’re taking the test.


Here’s the first big difference compared to school tests: Your teachers tested you on material they fully expected you to know how to handle. They never put something on the test that they expected you to get wrong.


But the GMAT will actually do this! The GMAT wants to know how well you make decisions regarding when to invest your limited time and mental energy and when not to. When you see something that will take too long or be too hard, do you let yourself get sucked in? Or do you say, “No, thanks!” and walk away?


In other words, the GMAT is testing you on how well you make business decisions. No good businessperson invests in every single opportunity that comes along. Rather, an effective businessperson evaluates each opportunity, saying yes to some and no to others.


That’s what you’re going to do on the GMAT, too. You will invest in a majority of the problems presented to you, but you will also say no to some—the ones that look too hard or seem like they’ll take too long to solve. These are literally bad investments.


The GMAT is Adaptive


Here’s the next big difference compared to school tests: The GMAT adapts to you as you take it, offering easier or harder questions based on how you’re doing on the test. Ideally, you’ll do well on the material that you know how to answer in a reasonable amount of time. Your reward? Eventually, you’ll earn questions that are too hard—either they’ll take too long or they’ll be so hard that you wouldn’t get them even if you had unlimited time.


Then what? If you try to use a “school mindset” on the test, you’ll keep trying to answer these questions even though you really can’t do them. You’ll waste a bunch of time and have to rush on other questions. As a result, you’ll start to miss questions that you actually do know how to answer and your score will go down. This is the business equivalent of spending most of your annual budget by month 8. . . and then not having enough money left to run the business effectively for the last 4 months of the year. Not a good look.


Instead, use your business mindset to carry you through the exam. When the test finds your limit (and it will), acknowledge that! Call it a bad investment and let that problem go, ideally before you’ve spent very much time on it. Choose an answer, any answer, and move on.


Extend the business mindset to your studies as well. If there are certain topics that you really hate, don’t study them. Seriously! Instead, on your next practice test, guess quickly and move on when one of those “bad investment opportunities” comes up. After your next practice test, you can see what your score is like and decide whether to study those topics in the future.


You might get to your goal score without ever having to master the content that you find the most annoying. Even those of us who score in the 99th percentile on the test have “guess fast on this” lists.


One caveat: You can’t give up immediately on huge swaths of content. For example, don’t bail on all of Reading Comprehension; that represents too great a portion of the Verbal section. You can, though, choose a subset of RC—say, science-based Inference problems.


Start orienting yourself around your business mindset today. You are not going to do every problem or master everything. Rather, you’re going to focus on the best investment opportunities (aka, problems) for you, as you see them throughout the test. When you decide not to pursue a particular investment, pick a random answer and move on as quickly as you can—don’t waste precious time on a poor investment opportunity. And feel good about the fact that you’re doing exactly what you’re supposed to do on the GMAT: making sound investment decisions about what to do and what not to do.


How to Organize Your Verbal Studies


“Verbal” actually means two things for the GMAT. First, verbal refers to the verbal-based skills that are tested throughout the GMAT—comprehension of complex texts, analytical reasoning around complex scenarios, and so on.


Second, verbal refers to the Verbal Reasoning (or Verbal, for short) section of the GMAT. Interestingly, a mix of quant and verbal skills are tested on the Data Insights (DI) section of the exam. Our All the Quant and Data Insights book covers all of the question types found in the DI and Quant sections, but you will also be able to use some of the verbal skills taught in this book when you get to the DI section of the test.


This book also covers all of the skills and strategies you’ll need for the two problem types found on the Verbal section of the GMAT, Critical Reasoning (CR) and Reading Comprehension (RC).


How to Use This Book


There are three units in this book:


1.Unit One: Foundations of Verbal


2.Unit Two: Critical Reasoning


3.Unit Three: Reading Comprehension


We recommend that most people start with Units Two and Three of this book. If, while working your way through the second and third units, you realize that you need more foundational help on anything you’re learning, find the corresponding chapter in Foundations of Verbal. Spend some time building your foundation in this area, then go back to the “main” CR and RC units.


If you find yourself frequently wanting to consult the Foundations Unit, then you may want to complete that entire unit before continuing with the rest of the book. And if you have never taken a standardized test before, or if you have always taken these kinds of tests in a language other than English, you may want to start with the Foundations unit.



Verbal Section Problem Types


The Verbal section of the exam contains two problem types: Critical Reasoning and Reading Comprehension.


Critical Reasoning (CR) questions test your ability to understand, analyze, critique, and infer from arguments. Reading Comprehension (RC) questions test your ability to comprehend and infer from complex narrative information.


You’ll need to average about 2 minutes per question during the Verbal section, though your timing for individual questions will likely range from almost no time at all to approximately 3 minutes. The “almost no time at all” questions will be your guess-fast questions: questions that look way too hard/long or that you know are a big weakness of yours (aka, bad investment opportunities). On other questions—perhaps a harder question in an area of strength—you’ll invest some extra time. It’ll all balance out in the end.


You’ll learn more about time management, as well as other test details, both in this guide and in the online resources associated with this guide. You can also test your skills using official GMAT problems that are published by the test makers in the GMAT Official Guide (also known as “the OG”). These problems appeared on the official GMAT in the past, so they’re a fantastic resource to help you get ready for the real test. (Note: The OG is published by the official test makers. It is sold separately from the Manhattan Prep books.)


Book Purchasers: Read Me!


If you are taking a live course or complete self-study program with us, you can skip this section. Your syllabus in Manhattan Prep’s online study platform will give you all of the needed assignments from all of your program resources throughout your studies.


If you have purchased books from us on Amazon or similar, then you will need to do some organization of your studies yourself. If you haven’t already, create your account on the Manhattan Prep website and register your purchase of this book and any other books you may have bought from us. This will give you access to a Starter Kit syllabus, containing resources both for this book and for the test overall. Take 15 minutes right now to explore your syllabus and understand how it works.


If you purchased our All the GMAT book set, you will have access both to the Starter Kit syllabus and to a more extensive syllabus on our online study platform. Just register your book set on our website to unlock the All the GMAT syllabus and get started.


We also recommend purchasing your own copy of the most recent edition of the GMAT Official Guide (also known as “the OG”). The OG is published by the official maker of the GMAT and contains problems that appeared on the official GMAT in the past. It’s a fantastic resource for your studies (which is why we include it in all of our live course and complete self-study programs). One more note: Don’t buy any OG editions from 2022 or earlier; those were all built for the old GMAT, not for the new GMAT.


Use OG problems to train yourself under official test conditions. We recommend following the below guidelines when you devise problem sets for yourself. (If you are taking one of our courses or complete self-study programs, ignore this! You already have OG problem sets assigned in your online syllabus.)
















	
When



	What











	Early in your studies


	
At first, try a single problem at a time:


1.Time yourself; it’s perfectly fine to go up to a minute over average time for that question type.


2.If you’re approaching 1 minute of extra time, pick an answer (any answer!); you’ll have to on the real test, too, so practice that from the beginning. Then either try the problem again or decide that you’d rather guess immediately on the real test. If you try it again, don’t time yourself and you can look up anything you want in your study materials.


3.Review each problem thoroughly before trying the next one.








	In the middle of your studies


	
Add a couple of layers of complexity:


1.Try two to four problems in one straight block before stopping and analyzing the problems. Set a timer for the whole block of time and have an answer for every problem by the time the timer runs out (even if you have to guess).


2.Include some problems from lessons or assignments you completed in earlier weeks (do some new problems and retry some problems that you did before).


These two additional layers will allow you to practice your time management and keep your skills fresh on material you studied earlier.








	Later in your studies


	
Add some more complexity:


1.Graduate to longer sets of problems (6 for the Verbal section).


2.Mix question types—do some CR and some RC in one set.


3.Choose problems randomly out of the OG—so that even you don’t know what you’re about to do! After all, the real test will never tell you what kind of problem you’re about to get. If you can mimic the randomness of the test, you’ll train yourself to be prepared for anything.











One word of caution: Don’t create problem sets that consist of many problems of the exact same type—for example, don’t do four CR Strengthen questions in a row. The real test will always mix things up, so do the same with your own practice.


One last—and very important—note: Manhattan Prep’s online study platform contains a host of additional resources associated with this book. These aren’t “extra” or optional materials; they’re integral components of your GMAT study plan.


Online, you’ll find materials that explain how to manage your time during the test and what to do if you find yourself too far ahead of or behind on time. You’ll also find resources to help you analyze your practice test results and figure out your study priorities going forward. You’ll even find more practice problems. Register your guide today to get access to all of these materials!










UNIT ONE



Foundations of Verbal


In this unit, you will learn foundational-level concepts and skills for the verbal concepts tested on the exam. Most people can skip this unit and begin with Unit Two, but if you have never taken a standardized test before or have always taken these tests in a language other than English, consider working your way through Foundations of Verbal. You can find more guidance in the How to Organize Your Verbal Studies section at the beginning of this book.


In This Unit . . .


•Chapter 1: CR Argument Structure


•Chapter 2: CR Assumptions and Deconstructing Arguments


•Chapter 3: CR Question Types and Trap Answers


•Chapter 4: Putting It All Together on CR


•Chapter 5: How to Read on RC


•Chapter 6: RC Main Ideas and General Questions


•Chapter 7: RC Specific Questions


•Chapter 8: How to Get Better at RC










CHAPTER 1



CR Argument Structure


In This Chapter . . .


•Arguments and Conclusions


•Drill 1.1—Find the Conclusion


•Building Blocks


•Drill 1.2—Identify the Building Blocks


•Common Argument Types


•Flaws in Arguments


•Drill 1.3—Match Similar Arguments


•Answers to Drill Sets









In this chapter, you will learn about the main building blocks of GMAT arguments, as well as the common types of arguments used on the test.










CHAPTER 1 CR Argument Structure



Have you ever witnessed or even taken part in the following kind of discussion?
















	

Person A



	

Person B








	

Makes a statement of some kind.



	

Says something that doesn’t address what Person A just said.








	

Responds with a random thought that popped into their head.



	

Confidently states an opinion as if it were a fact.








	

Talks in circles, leaving their true position unspoken.



	

Makes a mistaken assumption about what Person A wants.








	

Can’t articulate what they really think. Winds up frustrated.



	

Winds up frustrated.











This sort of exchange is typical. In real life, people are generally bad at arguing effectively!


Even folks who try to be fair-minded can be fuzzy in their thinking. For instance, people will hear both sides of an issue and then say, “Well, I need more information to decide.” But they can’t tell you what information they need. They can’t identify specific flaws in the chains of logic they’ve heard, so they have no idea how to fix those flaws.


It doesn’t have to be this way! GMAT Critical Reasoning (CR) problems force you to really understand arguments. In the context of the GMAT, the word argument doesn’t usually mean “a verbal scuffle or debate” (I had an argument with my friend last night). Rather, it means “a set of logically connected statements that put forth an assertion of some kind” (She made the argument that we should replace the refrigerator).


You have the first kind of argument, which is the verbal scuffle. In contrast, you make the second kind of argument, which is a case for some position.


As you study GMAT arguments—as you delve into their structure, purpose, and flaws, as well as possible cures for those flaws—you will start to notice similar arguments all around you.


Most arguments on the GMAT are flawed in some fashion. So are most arguments in the real world.


Be warned: Once your eyes are opened, there’s no going back to blind acceptance of the self-serving arguments of some salesperson or politician. But that’s not a bad thing, right?


In short, improving on Critical Reasoning will make you better at reasoning critically in general. That’s a pretty useful side effect of your preparation for the GMAT.



Arguments and Conclusions



A Critical Reasoning argument looks something like this:


To be considered a form of cardiovascular exercise, an activity must raise the heart rate and keep it elevated for at least 20 minutes. Skydiving cannot properly be considered a form of cardiovascular exercise. While skydiving certainly does elevate a person’s heart rate, the skydiver only experiences freefall for 60–70 seconds, followed by 5–6 minutes under a parachute—and, of course, it is not possible to string multiple dives immediately back-to-back.


Every argument contains certain building blocks, types of information that form the complete argument.


All arguments contain premises. A premise is a fact or an opinion that is intended to support some claim made by the author.


Most arguments also contain conclusions. The conclusion is the main claim made by the author.


Together, premises and conclusions make up the core argument. What is the core argument about skydiving?


[image: ]


The conclusion of an argument is the speaker’s main point or claim. Although it is often helpful to think of the conclusion at the end of the argument (as it is shown in the diagram), the conclusion may appear anywhere within the text of the argument.


When an argument does contain a conclusion (as most arguments will), it’s very important for you to correctly identify it.



Drill 1.1—Find the Conclusion



Articulate the conclusion in each of the arguments. In some, you may be able to underline the conclusion in the given text. In others, you may have to rephrase the conclusion a bit or combine two pieces of information.





1.Quoting sources in your papers without attributing the quotes to those sources is forbidden on this campus. Plagiarism is strictly forbidden by our code of conduct, and quoting without attribution is a form of plagiarism.


2.The difference between a weed and a garden plant depends entirely on the opinion of the person who owns the land. Thus, it is impossible to develop a flawless garden “weed killer” that kills all types of weeds and leaves all types of garden plants unharmed. The Vytex Company’s attempt to develop a perfect garden weed killer will fail.


3.An anti-smoking policy would cause a loss of revenue to the bars in Melton. Since Melton is a small town, smokers would likely just drive an extra couple of miles to bars in any of the neighboring towns, none of which have anti-smoking policies.


4.The city parks are overcrowded, leading to long wait times for athletic fields and courts and lessening citizens’ enjoyment of the parks. A new park should be built at the southern tip of the city, which does not have its own park. Because the heavily populated southern end of the city lacks a park, residents regularly travel to other parts of the city to use those parks, thus leading to overcrowding.


5.Some say that Saddlebrook College provides the best value in the state. Yet this belief is simply not true: Students at the state’s Tunbridge College pay less, enjoy newer buildings and smaller class sizes, and earn higher incomes after graduation.


Answers are on page 19.



Building Blocks



You’ve learned the first two types of Critical Reasoning building blocks:


















	Premise:


	supports the author’s conclusion







	Conclusion:


	the main claim made by the author













There are two more building blocks to learn:


















	Counterpoint:


	A counterpoint, or counterpremise, goes against the author’s conclusion in some way. Some arguments contain this kind of information, but many do not.







	Background:


	The argument also might introduce background information to provide context for the overall story.













The following exercise will help you practice finding these building blocks.



Drill 1.2—Identify the Building Blocks



Label each piece of information according to the role that it plays in the argument.





1.Company spokesperson: An investor has accused the CEO of financial impropriety, citing as evidence a $50,000 payment made to the CEO’s son although no work was performed. In fact, the payment was perfectly legitimate. The son’s firm provides consulting services to the company, and this was an advance payment of 10% of project fees for a new endeavor slated to start in the next month.


2.The female arkbird will lay eggs only when a suitable quantity of nesting material is available and the climate is suitably moderate. This year, unseasonable temperatures have actually increased the amount of nesting material as trees and plants die, shedding twigs and leaves. For this reason, the arkbirds in this region can be expected to lay eggs soon.


3.John Doe pleaded not guilty to the charge of embezzlement but was convicted after irrefutable evidence was found on his personal computer. It is illegal, however, to search a personal computer without the consent of the owner, so Doe’s conviction will be overturned on appeal.


Answers are on page 20.



Common Argument Types



There are several patterns that the GMAT frequently uses. In this section, you will be introduced to a few common argument types. Not every argument you see on the GMAT will fit into one of these types.


Causation


Causation arguments conclude that one circumstance caused another. Take a look at the following example:


A recent survey of senior citizens (people at least 65 years old) found that seniors who spend time caring for children under the age of five are more likely to define their health as good or excellent than those who do not spend time caring for children. Thus, to improve their health, senior citizens should be encouraged to spend time with young children.


This argument starts with the premise that two things were reported as occurring together in senior citizens (time caring for young children and good health). The conclusion implies that one of these things (caring for young children) can influence or is causing the other (good health). Why else might the two characteristics occur together?


First, the causation might actually be reversed. In general, people probably wouldn’t ask someone in poor health to care for a young child. So it could be that the health status of senior citizens influences the childcare as opposed to the other way around as the conclusion posits.


Second, there might be some third factor that influences both health and childcare activities. Consider age. Younger senior citizens (those 65–70) are likely to be in better health on average than older senior citizens. Perhaps many of these younger senior citizens are still employed in the childcare industry or are more likely to have young grandchildren or other young family members.


Make sure to look out for arguments that state or imply causation. When you notice such arguments, start thinking about alternative causes.


Plans


Recall this argument (with a couple of small changes):


The city parks are overcrowded, leading to long wait times for athletic fields and courts and lessening citizens’ enjoyment of the parks. The mayor contends that a new park should be built at the southern tip of the city, which does not have its own park. Because the heavily populated southern end of the city lacks a park, residents regularly travel to other parts of the city to use those parks, thus leading to overcrowding.


Which of the following, if true, most seriously undermines the mayor’s plan to alleviate overcrowding at city parks?


Now, the argument is being put forth by the mayor, and the question stem explicitly lays out the goal of the plan: to alleviate overcrowding. The full plan is to build a park in an area of the city lacking a park. Residents in this part of the city will visit the new park, alleviating crowding in existing parks.


For any plan, the key point of attack is typically whether the plan will work the way that the author says it will. It’s crucial to note precisely how the author states that the plan will work. Why might residents of the south still go to the old parks even after the new park is built? Could overcrowding still exist even if residents from the south go to the new park?


Trap answers will often try to go outside of the plan. For instance, a trap on this problem might revolve around building an indoor recreation center instead so that it could be used in winter. Maybe the center would attract more people and thus alleviate park overcrowding, but the question will ask you to analyze the given plan, not to find a way to achieve the same goal via a different plan.


In other words, don’t think the way you would in the real world when someone presents you with a plan. Evaluate the exact plan as it stands.


Prediction


The conclusion of an argument is often a prediction. Consider the following example:


In Steamtown, an average of 40% of eligible voters casts ballots in local elections. The upcoming election includes a proposal to allow the development of a mall on land that currently serves as a city park. Since many Steamtown residents are passionate about preserving the park, more than half of eligible voters will vote in the upcoming election.


The conclusion is the prediction that turnout for the upcoming election will be higher than average. This prediction is supported by the fact that many residents care about a particular issue on the ballot. However, there are many other factors that might influence voter turnout relative to other years. Are the polling locations and hours similar to those for previous elections? What if a bad storm hits on election day? Are the people who care about the park the same people who already vote in all elections?


Answers related to prediction arguments commonly focus on some other issue or intervening circumstance that could influence the prediction.


Profit


The GMAT frequently includes arguments about profits. An example follows:


XYZ Corporation has traditionally made bicycles with steel frames. Next year, XYZ will start manufacturing bicycles with carbon fiber frames. Serious bicyclists are willing to pay a significant premium for carbon fiber frames because they are much lighter but just as durable. Thus, XYZ’s profits from bicycles will increase next year.


Whenever a conclusion mentions profits, think about the profit equation: Profit = Revenue - Cost.


In this example, the conclusion states that profits will increase. The premises suggest that revenues are likely to increase because some people will pay more for bikes with carbon fiber frames. What about costs? How do the costs for materials and labor compare between carbon fiber bikes and steel bikes? GMAT arguments about profits often ignore one component of the profit equation. This forgotten component may be relevant to the answer.


Flaws in Arguments


Nearly all of the arguments on the GMAT are flawed. That is, the argument contains weak points, and the question asks you to analyze one of those weak points in some way.


You’ll learn about some of these weaknesses here. In the next chapter, you’ll learn about one more special kind of building block and the weaknesses associated with that building block.



1. Language Weaknesses


Some arguments use unjustified language. For example:


People who jog more than 10 miles per week have a lower incidence of heart disease than people who exercise the same amount on stationary bicycles. Therefore, jogging is the best method of exercise for reducing heart disease.


The conclusion is in the final sentence: Jogging is the best method of exercise for reducing heart disease. The word best is quite extreme. Jogging is the best method ever? Better than swimming, tennis, and a million other things? Even if you prove that jogging is better in some respect than stationary bicycling, all you can say is that jogging is better than one other activity, not that it’s the best.


Watch out for these extreme words: only, never, always, cannot, certainly, obviously, inevitably, most, least, best, and worst. Look for dramatic predictions and assertions: X costs far more than Y, an immediate increase in Z, or a sharp decline in W. When you see extreme language, check whether this language is justified by other information in the argument. If not, you’ve just found a flaw in the argument.


If you see something like this . . .


Whenever there is political unrest in the world, the price of oil goes up. Thus, political unrest must be the most important influence on the price of oil.


. . . then think something like this:


Is it really the most important influence?




Study Tip: Check whether extreme language is justified by the argument.





In addition to unjustified language, arguments will sometimes use false synonyms or false equivalents. For example:


Consumers used their cell phones more this month than last month, but they talked for fewer minutes. So they must have sent more text messages this month than last month.


Used their cell phones more is not necessarily equivalent to sent more text messages. There are plenty of other things to do on a cell phone; they could have been playing games, surfing the web, listening to music, and so on.


Vague language can also be problematic. Recall the “people who jog” argument:


People who jog more than 10 miles per week have a lower incidence of heart disease than people who exercise the same amount on stationary bicycles. Therefore, jogging is the best method of exercise for reducing heart disease.


What on earth does it mean to exercise the same amount as someone who is jogging 10 miles? Does it mean biking for the same amount of time or the same distance? The same number of calories burned? It’s much faster to ride 10 miles on a stationary bike than to jog 10 miles, so if the arguer means that the distances are the same, then there is potentially another reason (besides the author’s conclusion) that the joggers have less heart disease: They are exercising more hours per week. Exercise the same amount is vague. Question any term that’s insufficiently precise.



2. Selection Bias


Whenever you compare two groups, make sure that the two groups are legitimately comparable. This is particularly tricky when the two groups seem comparable—for instance, when they are both drawn from the same population.


There are several types of selection bias. These biases are common issues in causation arguments.


Unrepresentative Sample


Marketers, pollsters, and social scientists of all stripes use samples. It’s impossible to ask everyone in the entire population for their opinions on single- versus double-ply toilet paper, so instead you ask 100 people. You have to ensure that the sample is representative, though. In particular, you have to be wary of volunteers. For example:


Some customers who filled out a long survey for free said that they love our company. So our customers love our company.


Isn’t there a possibility that this sample of customers is disproportionately composed of people who like you? After all, they filled out a long survey for free. The potential for self-selection bias is strong here.


Survivor Bias


It is not logical to judge an entire group by concentrating only on who or what survived a process or time period while ignoring the non-survivors. It’s easy to fall into this trap, though; after all, it’s often hard to find out much about the people or things that didn’t make it.


When you say survive, you might mean it literally—for instance, the population of living people over 100 years old (those who survived that long) is not representative of all people born 100 or more years ago. Those alive today are very likely different in important ways—better access to nutrition, fewer genetic maladies, etc. For example:


A survey of living people over 100 years old showed that they have lower rates of cigarette smoking than does every other age group from 15 to 100 years old. Therefore, the rate of smoking is increasing.


Here, it is likely that those who lived to be 100 did so in part by not smoking and that plenty of people born 100 or more years ago did smoke and did not live to be 100.


Survivor bias can also involve nonliving things:


Most ancient Greek coins made of gold and silver have been found buried in the ground. So the ancient Greeks must have buried most of their gold and silver coins.


What about the ancient Greek coins that weren’t buried? They were probably dispersed, melted down, or otherwise destroyed. The sample of surviving coins is not representative.


Ever-Changing Pool


Many groups of people have a rotating cast of members. If a civic club voted in favor of something yesterday and against it 20 years ago, you wouldn’t automatically conclude that people in the club changed their minds over time; it’s pretty likely that the club includes different people than it did back then. For example:


A petition is circulating in Capital City that opposes building a new sports center at State University on land now occupied by abandoned strip malls. Five years ago, many city residents opposed building a new State University dormitory complex, yet in a poll this year, 80% of respondents said that building the dormitory complex had been a good idea. If the people who sign the petition opposing the new sports center are polled in a few years, they will have changed their minds.


Five years ago, people opposed the new dorm, and now 80% of respondents to a poll like the dorm. Are the poll respondents the same population as the voters? Maybe the poll was conducted on or near campus; a high percentage of students in the poll would certainly skew results.


Even if the poll were representative of the city’s current residents, it’s not clear that they are the same residents as five years ago. Maybe some residents disliked the college’s expansion plans enough to move out of town. Maybe the new dorm allowed the college to admit significantly more students, thus diluting the pool of people who disliked and still dislike the dorm.


If you see something like this . . .


Students who joined social clubs at Hambone University and were elected officers of their clubs last year had lower grades on average than all students at Hambone over the last decade. Therefore, participation in social clubs at Hambone negatively impacts students’ grades.


 . . . then think something like this:


That may be true, but so what? Self-selection bias: These people wanted to prioritize socializing by joining social clubs. Survivor bias: These students were elected officers, meaning that they made it even further into socializing. Ever-changing pool: Students from last year are being compared with students over the last decade. The composition of the school may have changed over that time.


3. Math Errors


You might not want to hear this, but even on the Verbal section of the GMAT, you can’t completely get away from the Quant. A few Critical Reasoning arguments do trade on math issues. Fortunately, these issues almost never require any computation, and even in the worst case, you’ll just be comparing one ratio to another.


When working with numbers on the GMAT, you’ll generally be trying to find mathematically provable conclusions. Here’s an example: Alice worked fewer days last month than Bob worked, but she earned more dollars last month than Bob earned. What can you definitely conclude? Alice must have had a higher daily wage (dollars per day) than Bob had.


You can’t conclude that her hourly wage is higher; she may have worked a greater total number of hours than Bob did even though she worked fewer days. Also, notice that this conclusion is based only on inequalities and ratios. This is the way that the GMAT can avoid putting real numbers into arguments and yet still have a rigorous, airtight conclusion.


The GMAT also likes to mix up percents and real numbers. If David gets a 10% pay raise and Marie gets an 8% pay raise, who now has a higher salary? Without knowing how much the two people made before, it’s impossible to tell. Don’t confuse percents with actual numbers of dollars, people, etc.


Consider this argument:


Cetadone, a new therapy for the treatment of addiction to the drug tarocaine, has been proven effective in a study centered around Regis Hospital in the western part of the state of New Portsmouth. The study involved local people suffering from an addiction to tarocaine who responded to a newspaper ad offering free treatment. Participants who received cetadone and counseling were 40% more likely to recover than were patients assigned to a control group and who received only counseling. Conventional therapies have only a 20% recovery rate. Therefore, the best way to reduce deaths from tarocaine overdose throughout all of New Portsmouth would be to fund cetadone therapy for all people addicted to tarocaine.


In this argument, 40% certainly looks like a higher number than 20%. And there are no real numbers of people here anywhere, so the argument is not confusing a percent with a real number.


However, the 20% is an actual recovery rate for conventional therapies.


The 40% is a percent increase on an unknown figure—the recovery rate of the control group. You have no way to compare this to an actual 20% recovery rate. For instance, what if the control group had a 50% recovery rate? Then the cetadone group would have a 70% recovery rate (1.4 × 50). But what if the control group had a 1% recovery rate? Then the cetadone group would have a 1.4% recovery rate, making it much less successful than conventional therapies. Be ready to test some extreme cases (high and low) to see whether the conclusion actually holds.


In short, if any numbers or numeric relationships are presented in an argument, determine whether they are being cited in a logical way. This is the exact same reasoning about percents and percent change that you will need for the Quantitative part of the exam (and, of course, the math on the actual Quant and DI sections is much harder than anything that would ever occur in Critical Reasoning), so it pays in numerous ways to have a solid knowledge of percents.


A few other standard mathematical relationships show up in Critical Reasoning as well:


Distance = Rate × Time


Profit = Revenue - Costs


Revenue = Price × Quantity


Dollars = (Dollars per Hour) × Hours


You have to know these for the Quant and DI sections of the test, of course. Ratios in general (such as dollars per hour, miles per gallon, etc.) are fair game. Again, you won’t have to compute anything; you need to be able to follow a couple of steps to a mathematical conclusion.


4. Big Leaps in Logic


Sometimes, a conclusion makes too big of a leap in logic. For example:


For over 100 years, the nation of Relmeer has had a mutual defense pact with the neighboring country of Gherfu. Yet last month, the government of Relmeer fell to an invasion from the United Provinces of Antocia. Thus, Gherfu is at fault for not abiding by the mutual defense pact.


Gherfu was supposed to help Relmeer, but Antocia completely defeated Relmeer anyway. Therefore, Gherfu didn’t help? There is no way to tell that. Maybe Relmeer and Gherfu are small nations and the United Provinces of Antocia is a very large and powerful nation. Maybe Gherfu did absolutely everything it could. Maybe soldiers from Gherfu died valiantly in battle, trying to protect Relmeer. Here is another example:


Amateur boxers wear headgear to protect against brain injuries from boxing. Yet, last year, three amateur boxers suffered serious brain injuries in the ring while wearing the headgear. Therefore, the headgear does not protect against brain injuries.


Well, it certainly seems true that the headgear is not 100% effective (although it would be helpful to confirm that the injured boxers were wearing the headgear correctly). However, there is a huge gap between saying that the headgear is not 100% effective (not much in life is) and saying that it does not protect. There are lots of things—automobile airbags, sunscreen, bulletproof vests—that do not provide 100% protection but certainly still have a protective effect.


Here’s another example, this time with a choice of two multiple-choice answers:


Pancreatic cancer patients as a group have only a 5% survival rate after five years. With a surgical procedure called the Whipple, followed by chemotherapy and radiation, this survival rate can be increased. Therefore, this course of treatment is the best option for all pancreatic cancer patients strong enough to undergo the surgery.


What does this argument assume?


(A)People who receive the Whipple operation followed by chemotherapy and radiation are likely to live longer than five years.


(B)No other treatment has a better or equivalent rate of effectiveness.


Note that this argument has a significant logical flaw: It uses unjustified language. This course of treatment is the “best”? In making that conclusion, the argument assumes that other treatments must be worse. You are to take as fact that this course of treatment increases the survival rate, but what if some other course of treatment increases the rate even more? The author has neglected to rule out this possibility. The answer is (B).


What about incorrect choice (A)? An argument that asserts that a particular plan is the “best” one does not have to assert that that plan is likely to work—only that nothing else is more likely to work. In the case of a very deadly disease, sadly, even the very best treatment may not be that effective. As it turns out, the course of treatment described above currently leads to a five-year survival rate around 20%—thus, even with the “best” treatment, patients are not likely to survive five years.


One subset of a big leap in logic has to do with causation. As discussed in the prior section, when an argument jumps to a causal relationship, question that relationship. Why does X necessarily cause Y? Couldn’t it be the other way around? Could there be some other factor influencing both observations?


Consider this argument:


According to a recent study, cats that eat Premium Cat Food have healthier coats and shed less hair than those that do not. The higher cost of Premium Cat Food will be offset by a reduction in the need for cat grooming and house-cleaning services.


Two things are happening at the same time: Cats are eating Premium Cat Food and they are shedding less. The conclusion is that owners will save money on certain services by feeding their cats Premium Cat Food. This conclusion assumes that Premium Cat Food causes the healthier coats and a reduction in shedding. But is it necessarily the case that the cat food has these beneficial effects?


Perhaps people who can afford to purchase Premium Cat Food (and choose to do so) also provide their cats with grooming, top-notch health care, or other amenities that reduce shedding and make coats healthier. Perhaps people who spend more on cat food tend to have special breeds of cats that naturally shed less.


When changes or events occur at the same time or in sequence, don’t assume that X necessarily caused Y. It could be that Y caused X. It could also be that something else entirely caused both X and Y.


Here’s a summary of the argument flaws you’ve learned so far:
















	

1. Language Weaknesses



	

Unjustified language (e.g., an extreme word) False synonyms or false equivalents








	

2. Selection Bias



	

Unrepresentative sample Survivor bias Ever-changing pool








	

3. Math Errors



	

Conclusion not mathematically justifiable Percentages vs. real numbers








	

4. Big Leaps in Logic



	

Conclusion makes huge leap. For example:




	Something good is the absolute best.


	A and B both happen, so A causes B.
















Drill 1.3—Match Similar Arguments



Six arguments are presented below. Not all arguments are complete—some lack conclusions.


Match each argument with a partner—that is, an argument that uses the same pattern or shares the same flaw. This should result in three pairs of arguments. Articulate the pattern for each pair.





1. Running Study: A study concluded that running is the optimal form of exercise to effect significant changes in overall health. Study participants ran five miles per day, six days a week, for three months. At the end of the study, the participants were shown to have lost weight, reduced their cholesterol levels, and increased their cardiovascular fitness. Further, running is inexpensive and easy to do year-round in most locations.


2. Freight Trains: In a survey of working freight trains, engineers found that engines built before 1960 had better tolerances and higher-grade steel than engines built since 1960. Therefore, freight train engines were constructed according to higher-quality standards before 1960 than afterward.


3. New Product: To make a profit this quarter, Company X must increase sales of its old product while also introducing a new product that is as profitable as the old one. Whenever Company X introduces a new product, sales of the old product drop sharply.


4. Heart Murmurs: A veterinarian noticed more potentially fatal heart murmurs in puppies than in dogs over 15 years old. Thus, the veterinarian concluded that the diet and care given to dogs must have declined over the last 15 years.


5. Peacekeeping Force: For the violence in Kirkenberg to be stopped, the majority of surrounding nations must vote to send in a peacekeeping force, and the wealthy nation of Nandia must provide funding. If Nandia becomes involved in any way regarding Kirkenberg, at least half of the nations surrounding Kirkenberg will vote against intervening in Kirkenberg.


6. Cost Cutting: Company G determined that there were two available methods to cut production costs for its main product line: change suppliers for certain raw materials or automate certain steps in the assembly of the product. Automation will save more money than changing suppliers, so Company G will maximize its savings by automating certain steps of the assembly.


Answers are on page 21.



Answers to Drill Sets



Drill 1.1—Find the Conclusion


1.Quoting sources in your papers without attributing the quotes to those sources is forbidden on this campus. In order, the chain of logic could be summarized as: Quoting without attribution is plagiarism; plagiarism is forbidden; therefore, quoting without attribution is forbidden.


2.The Vytex Company’s attempt to develop a perfect garden weed killer will fail. The chain of logic is as follows: The difference between weed and plant is based on personal opinion; therefore, it’s impossible to develop a “weed killer” that kills all weeds but no plants; therefore, Vytex’s attempt to develop such a product will fail. Note that there seem to be two conclusions here! The first one is sometimes called an intermediate conclusion; only the final one is considered the main conclusion.


3.An anti-smoking policy would cause a loss of revenue to the bars in Melton. The chain of logic is as follows: If smokers can’t smoke in bars in Melton, they’ll go to other bars in nearby towns; therefore, Melton’s bars will lose revenue.


4.A new park should be built at the southern tip of the city. The chain of logic is as follows: The southern tip of the city doesn’t have a park; residents in that area go to parks in other areas; those other parks are overcrowded; therefore, a new park should be built at the southern tip of the city.


5.It is not true that Saddlebrook College provides the best value in the state. Careful! The conclusion isn’t that Tunbridge College provides the best value in the state—the speaker has simply pointed out that Saddlebrook can’t be the best value, since another college is a better value. For instance, Saddlebrook and Tunbridge could actually be the 10th and 7th best values in the state, respectively.


The speaker’s statement of the conclusion is that this belief is simply not true. You have to go back to the previous sentence and substitute in what the speaker means by this belief. Don’t go beyond what is explicitly stated in the passage.


Be literal. Think about when you say things such as “Uncle Jay thinks he’s the smartest person in our family? Even my eight-year-old is better at math than he is!” You’re not arguing that your eight-year-old is the smartest person in the family—you’re just pointing out that Uncle Jay can’t be the best, since at least one other person is better than him.



Drill 1.2—Identify the Building Blocks


1. Company spokesperson:


















	

An investor has accused the CEO of financial impropriety, citing as evidence a $50,000 payment made to the CEO’s son although no work was performed.



	

Counterpremise








	

In fact, the payment was perfectly legitimate.



	

Conclusion








	

The son’s firm provides consulting services to the company,



	

Background








	

and this was an advance payment of 10% of project fees for a new endeavor slated to start in the next month.



	

Premise




























	

2.    The female arkbird will lay eggs only when a suitable quantity of nesting material is available and the climate is suitably moderate.



	

Premise



























	

This year, unseasonable temperatures have actually increased the amount of nesting material as trees and plants die, shedding twigs and leaves.



	

Premise








	

For this reason, the arkbirds in this region can be expected to lay eggs soon.



	

Conclusion








	The most common building blocks are premises and conclusions. Many arguments, like this one, will not contain counterpremises or background information.



























	

3.    John Doe pleaded not guilty to the charge of embezzlement but was convicted after irrefutable evidence was found on his personal computer.



	

Background



























	

It is illegal, however, to search a personal computer without the consent of the owner,



	

Premise








	

so Doe’s conviction will be overturned on appeal.



	

Conclusion














At first, the fact that irrefutable evidence of his guilt was found may seem like a premise. The conclusion, however, is that his conviction will be overturned, so irrefutable evidence of his guilt doesn’t support that claim. Rather, the idea that this evidence is not permissible supports the claim that his conviction will be overturned.



Drill 1.3—Match Similar Arguments


1. #1 Running Study and #6 Cost Cutting


Pattern: One particular plan has a good result. Therefore, it is the best way to accomplish a certain goal.


Both cases use unjustified language in the conclusion. According to the running study, it does sound like running will help people to improve their health. There is no information to suggest, however, that this is the optimal, or best, way to do so. Running might work for some people but not others. Or tennis might be even better than running. Running is good, but there is no evidence to say that it is the best.


The cost cutting argument is a bit trickier. If automation saves more money than changing suppliers, then doesn’t that mean that automation is the better choice? Sure! But the conclusion states that, by automating certain steps, the company will maximize its savings. What if it also changes suppliers? Nothing in the argument prevents the company from taking both steps.


2.#2 Freight Trains and #4 Heart Murmurs


Pattern: Right now, some things toward the end of their life cycle are better than some things toward the beginning of their life cycle. So the older things must have been better to start with.


The problem in both cases is survivor bias. In the case of the freight train engines, it is very likely that the poorly built engines from before 1960 have long since fallen apart—only the best ones are left running. So the argument is illogically comparing the best old engines with all newer engines. New engines that were badly built haven’t yet had much of a chance to fall apart. In the case of the dogs, the 15-year-old dogs are probably mostly the ones who never had heart murmurs in the first place, since their littermates who did have potentially fatal heart murmurs did not live to be 15 years old, sadly.


Just as it would be unfair to compare one university’s best graduates with all of another university’s graduates, it is illogical to compare a group that has been weeded out (in this case, by long periods of time) with another group that hasn’t.


3.#3 New Product and #5 Peacekeeping Force


Pattern: In order to solve a problem, two things must happen. If one thing happens, the other one can’t. (Therefore, the solution cannot take place.)


The first argument presents as fact that to make a profit this quarter, Company X must increase sales of its old product while also introducing a new product that is as profitable as the old one. If this is true—that this is the only way to make a profit this quarter—then the next premise makes it impossible to make a profit, since whenever Company X introduces a new product, sales of the old product drop sharply. This is not a paradox, nor is the argument flawed. It’s just that the plan won’t work. This situation might be called the self-defeating plan.


The peacekeeping plan is similarly doomed. For the violence to stop, two things must happen: Surrounding nations must vote to send in forces and Nandia must give money. But if Nandia gives money, the other nations won’t vote to send in forces. In other words, the plan will fail.
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In this chapter, you will learn how to deconstruct GMAT arguments to identify conclusions, premises, and other important components.










CHAPTER 2 CR Assumptions and Deconstructing Arguments



What Is an Assumption?


At the end of the last chapter, you learned about a particular category of flawed argument: big leaps in logic. Big leaps can be obvious, but arguments can also make smaller and more subtle—but no less problematic—leaps.


These leaps are the result of an assumption. The author relies on evidence that is not explicitly stated or just asserts that something is true without providing proof.


Consider this argument:


The impoverished nation of Beltraja has several hospitals that practice good sanitation and employ well-trained doctors. However, these doctors report that, each year, thousands of Beltrajians succumb to fatal illnesses that could have been cured with antibiotics. Therefore, a relief plan to provide regular shipments of antibiotics to Beltraja’s hospitals should save lives.


This seems like a pretty decent argument. Note that the conclusion is not too extreme—the argument does not say that all of the people will be saved. There are some gaps, however:


People are dying because they weren’t treated with antibiotics.




↓





Give the hospitals antibiotics.




↓





Some of the people won’t die.


In either arrowed location, what is the author assuming? For one, the author assumes that the people who died were treated at the hospitals but weren’t given antibiotics for some reason. It’s certainly possible that the hospitals lack an adequate supply of antibiotics, but there are other possible explanations. Perhaps it is the case that the affected Beltrajians don’t have the means to travel to a hospital to be treated in the first place. The author assumes that there is only one possible (or, at least, primary) reason: a shortage of antibiotics at the hospitals.


Assumptions are the fifth, unspoken building block of arguments. The author assumes something is true without actually stating that thing or providing evidence that it is true.


About half of the question types on the GMAT revolve around the weak points of an argument, assumptions that the author is making. If you can identify the author’s assumptions, then you are halfway toward answering the question correctly.


Try this one:


Consumption of fast food contributes to obesity. If a fast food restaurant is permitted to open right next door to the local high school and to sell to students during lunchtime, the students will become obese and the school’s scores on a national fitness test will decline.


List the steps leading to the conclusion (it’s okay if you use a different number of “steps” than these lines and arrows imply):


[image: ]


Here’s one possible response:


Fast food place sells to students.




↓





Students become obese.




↓





Students do worse on fitness test.


There are some significant assumptions in this argument.


The author assumes students will eat at this restaurant in the first place (and regularly enough to become obese). The author also assumes either that this fast food is unhealthy and will contribute to obesity or that students will generally avoid healthy items and purchase the unhealthy ones.


The author further assumes that obese people generally score lower on a national fitness test. The argument doesn’t actually detail what is required on the national fitness test, let alone how a subject’s weight is a factor in performance on such a test. What if doing well on the test isn’t any less likely for obese people?


Changing an argument to make a “larger” claim can introduce even more assumptions. Here’s the Beltraja argument again, with a few changes (in bold):


The impoverished nation of Beltraja has several hospitals that practice good sanitation and employ well-trained doctors. However, these doctors report that approximately 3,000 Beltrajians per year die from illnesses that could be cured with antibiotics. Therefore, a relief plan to provide regular shipments of antibiotics to Beltraja’s hospitals will save thousands of patients per year.


The original conclusion seemed pretty reasonable—if people are dying because of a lack of antibiotics, sending some antibiotics ought to save at least some of those people (technically, if you save just two people, you’ve “saved lives”).


But in this new version of the argument, the original problem has been quantified—about 3,000 people are dying. The new conclusion is that you’ll save thousands, which implies at least 2,000. Can the plan save approximately two-thirds of the people who are dying? That is a much more ambitious goal, and more evidence would help support such a big conclusion. For instance, the author is assuming that antibiotics alone will save at least two-thirds of these people. Perhaps there are other medical complications that would still threaten lives, even if antibiotics are made available. Or perhaps a significant percentage of these people never seek medical treatment.


Some common types of assumptions are listed below. Anything the author assumes to be true in drawing the conclusion, though, is considered an assumption, even if it does not fall into the following categories.


Assumes Shared Beliefs


Here, the arguer assumes that the listener will share certain basic beliefs—some of which are mere impressions, prejudices, and so on. Here is an example:


Smalltown Cinema currently prohibits movie attendance by unaccompanied teenagers under age 16. If this restriction is lifted, the theater’s operating expenses will increase because of an increased need for cleaning services and repairs to the facility.


Some people read this argument and do not immediately see the flaw. Restate the argument in a simpler way to clarify the argument’s structure:


IF unaccompanied teenagers under age 16 are allowed in the theater . . .


THEN the theater will have to pay for cleaning and repairs.


What’s missing in the middle of that argument? What does the arguer need to prove in order to make the argument valid?


Consider a slightly different example:


Smalltown Cinema currently prohibits movie attendance by elderly women. If this restriction is lifted, the theater’s operating expenses will increase because of an increased need for cleaning services and repairs to the facility.


Isn’t the argument now kind of strange? The speaker seems to think that elderly women make a mess in theaters and break things.


The speaker has made the assumption that elderly women disproportionately mess up and damage theaters. The reason that the assumption was so easy to spot in this case was that it was not something most of us intuitively believe.


However, many people take it for granted that teenagers make messes and are more likely to break things. The speaker in the original argument played on a general prejudice against teenagers. Although the speaker’s argument depends on the idea that “teenagers under age 16 are more likely to make theaters dirty and to damage the facilities,” the speaker didn’t even bother to write that—and certainly didn’t prove it. Don’t take anything for granted, and don’t bring in outside ideas.


Here’s another example:


The Urban Apartment Towers complex has seen a number of police visits to the property recently, resulting in the police breaking up loud parties held by young residents and attended by other young people. These police visits and the reputation for loud parties are hurting the complex’s reputation and ability to attract new residents. To reduce the number of police visits and improve profitability, management plans to advertise its vacant apartments in a local publication for people aged 50 and up.


What is this argument assuming but not proving? That people aged 50 and up are less likely to have loud parties or attract police visits. This doesn’t sound like a totally unreasonable assumption, but it’s an assumption nonetheless. It’s the arguer’s job to prove such an assumption. It’s your job to notice that the arguer hasn’t done so.


If you see something like this . . .


Spider silk cannot be made in a lab; it can only be harvested directly from live spiders. So it is impractical to produce spider silk on an industrial scale.


 . . . then think something like this:


That assumes that you can’t “farm” spiders to produce the silk. Maybe you can!


Assumes Skill and/or Will


For people to do something, they have to be able to do it, certainly, but they also have to want to. Both skill and will are necessary.


Some arguments give you one piece but not the other. A recommendation that everyone should exercise two hours every day might give reasons why people should want to do so, but ignore the fact that not everyone can exercise that much (e.g., people who are seriously ill). Consider the following example:


The school should offer fresh vegetables at every lunch. Children who eat fresh vegetables are healthier, and fresh vegetables are cheaper than processed food, so the budget can accommodate the change.


What’s the problem here? Maybe the school can afford to offer vegetables (the skill side). The argument makes a nod toward the will side: Maybe the parents would want their kids to eat fresh vegetables. But what about the will of the children themselves? How many kids eat fresh vegetables voluntarily?


The Urban Apartment Towers argument also has a skill/will problem. Maybe over-50 people in the local area cannot afford to live in the Towers. And how badly do people over 50 want to live in an apartment complex that has a reputation for loud parties? It’s the responsibility of the arguer to answer.


Assumes the Future Equals the Past


To comply with consumer protection laws in the United States, investment firms have to tell you that “past performance is no guarantee of future results.” So why do materials published by mutual funds often trumpet the fact that their precious metals mutual fund exceeded its benchmark for the past three quarters?


Because they know that people fall into this logical trap. Of course, in many ways the future will be like the past. If you didn’t assume so, life would be a lot more difficult. But this assumption goes too far. In the late 1990s, people kept plowing money into internet stocks, believing that the ride wouldn’t end (or wouldn’t end yet!).


Remember that the future does not have to mimic the past. In a sense, every plan and proposal is guilty of this error, since every plan and proposal is forward-looking but uses the past as evidence. But some plans are more guilty than others.


If you see something like this . . .


The price of the stock went up eight months in a row, when the market was flat. Therefore, I should buy this stock.


 . . . then think something like this:


How do you know that it will keep going up? Maybe the stock has already risen too far. Maybe the increase is random. After all, if enough people flip coins, someone will flip heads eight times in a row.



Deconstructing Arguments



Remember this argument from the previous chapter?


To be considered a form of cardiovascular exercise, an activity must raise the heart rate and keep it elevated for at least 20 minutes. Skydiving cannot properly be considered a form of cardiovascular exercise. While skydiving certainly does elevate a person’s heart rate, the skydiver only experiences freefall for 60–70 seconds, followed by 5–6 minutes under a parachute—and, of course, it is not possible to string multiple dives immediately back-to-back.


The argument gets pretty complex. It often helps to write some things down to help you map out the parts and remember the major pieces of information. Mapping the argument can also help you to understand the relationships between different parts of the argument.


Here’s an example of what one student might write:
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This student used some abbreviations and symbols, but you probably have figured out what most of them mean. CE stands for cardiovascular exercise and SD stands for skydiving. The up arrow means increase and 20+ min means at least 20 minutes. The ≠ symbol is shorthand for a common piece of information in arguments: One thing does not represent or go along with another. Finally, the © is this student’s way of denoting the conclusion of the argument.


Is that the only way to map out this argument? Definitely not! Someone else might draw something like this:


[image: ]


This student used different abbreviations of course, but she also just laid things out differently in general. Instead of writing things out line by line as she read, she read the whole argument first, then laid it out according to the logical flow of information. She writes the conclusion off to the right after the arrow to set it apart from the rest of the argument.


There are many ways to organize information from Critical Reasoning arguments. On some, you might even want to make a table or draw a picture. Your task will be to find the right style for you. Whether you use variables or abbreviations to refer to entire premises (B = the company will go bankrupt) or merely words (FF = fireflies) will depend on the complexity of the argument and your own preferences.


Keep one important principle in mind as you develop your style: abbreviate aggressively! You’ll only need to use your map for about 60–90 seconds after you’re done creating it. You can abbreviate down to single-letter variables and still remember what they stand for 90 seconds later!


Here are some additional examples of symbols that you could use:
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Next, arrange the pieces of the argument in a logical order, one that makes sense for you. If you prefer to write each piece of information as you read, then use symbols or arrows to indicate what leads to what (and make sure to mark the conclusion). If you prefer to read first and then write, you can reorder the information to put the conclusion last or to the right (or first, if you prefer, as long as you are consistent).


Try this argument:


A study of 120 elderly, hospital-bound patients in the United Kingdom showed that daily consumption of Nutree, a nutritional supplement containing vitamins, fiber, and sugar, increased by an average of four months the typical life expectancy for patients of the same age and physical condition. Thus, anyone who wants to live longer should drink Nutree every day.


Here is one possibility; can you decipher the abbreviations and symbols used?
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The notetaker starts by attributing the information to a study (S) and then conveys the study results. N is Nutree and LE is life expectancy. It’s generally a good idea to rearrange the content slightly to clarify relationships or to fit a pattern you’re used to. For instance, always putting causes on the left and effects on the right is a fine habit to adopt.


The last line is not stated in the argument. The student is noticing an assumption (a bad one!): The study only followed elderly people in the hospital. Would the same results hold true for everyone? The conclusion assumes so, but this may not be valid.



Drill 2.1—Deconstructing Arguments



Try to create a map of each argument on a piece of paper. Try to brainstorm any assumptions or pinpoint any weaknesses in the argument. (Note: You saw some of these arguments earlier in this book.)





1.The difference between a weed and a garden plant depends entirely on the opinion of the person who owns the land. Thus, it is impossible to develop a flawless garden “weed killer” that kills all types of weeds and leaves all types of garden plants unharmed. The Vytex Company’s attempt to develop a perfect garden weed killer will fail.


2.The city parks are overcrowded, leading to long wait times for athletic fields and courts and lessening citizens’ enjoyment of the parks. A new park should be built at the southern tip of the city, which does not have its own park. Because the heavily populated southern end of the city lacks a park, residents regularly travel to other parts of the city to use those parks, thus leading to overcrowding.


3.Van Hoyt College has produced at least one Rasmussen Scholar per year for the past decade. Therefore, Van Hoyt College is a very good school.


4.Researcher: The female arkbird will lay eggs only when a suitable quantity of nesting material is available and the climate is suitably moderate. This season, the arkbirds in our local habitat will be laying eggs because unusual temperature patterns have increased the amount of nesting material preferred by the arkbird.


5.The SML-1 is a test of computer programming abilities used by Human Resources departments to make hiring decisions and assess employees. The Cyvox Corporation reported an average score of 65 out of 100 for its job applicants. At Vectorcom Company, employees achieved an average score of 83—nearly 20 points higher than Cyvox. Therefore, Vectorcom’s employees are better computer programmers than Cyvox’s.



Answers to Drill Set



Drill 2.1—Deconstructing Arguments


1.Vytex’s Weed Killer


[image: ]


This student used the abbreviation OD, which stands for opinions differ. It’s not uncommon for an argument to have some kind of debate, so you might use deb or OD (or anything else you like, as long as you’re consistent!) as your standard shorthand for “there is not a consensus on this issue.”


Note that there are also two sets of therefore symbols. The student used the triangle dots to show a series of conclusions, then labeled the final conclusion with the © symbol.


If it is impossible to define what a weed is, then the argument is correct that it is impossible to develop a weed killer that will kill every type of weed. The argument assumes, though, that people don’t actually agree on what is a weed and what is a plant. The argument also assumes that a perfect weed killer must kill every last type of weed. Perhaps customers would consider a product perfect if it kills the most common types of weeds for a particular climate or geographic area.


2.Overcrowded Parks
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The student uses S to mean southern tip of the city. Notice that these notes have a horizontal orientation, with the conclusion to the right, while the notes for the first problem show a more vertical orientation. You can use whichever orientation you like, but it’s a good idea to be consistent.


The author assumes that if a new park is built at the southern tip, then the residents there won’t travel to other parts of the city. What if, for example, these residents are visiting relatives who live in other areas of the city? Or, what if their children play on sports teams that meet in the other parks?


Further, the argument never specifies the volume of southern residents traveling to other areas of the city; it says only that (some) residents do regularly travel to those existing parks. What if they make up only 1% of the people who use the existing parks? Reducing usage by 1% is unlikely to relieve overcrowding.


3.Van Hoyt College
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This student included a note in brackets; use brackets to denote weaknesses or assumptions that you brainstorm when reading the argument. In this case, the student is questioning whether the number of Rasmussen Scholars is actually an appropriate metric to determine that a school is a very good school. What if it is relatively easy to become a Rasmussen Scholar, but most of Van Hoyt’s students still can’t qualify? Or, what if the school always chooses at least one Rasmussen Scholar every year, regardless of the quality of the students?


4.Arkbirds
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The argument specifies that the arkbird requires two things in order to lay eggs. The first one, nesting materials, is present this season, but what about the second one? What are unusual temperature patterns?


The required suitably moderate climate is one that is relatively mild, neither too hot nor too cold. Unusual temperature patterns could be anything—they could be mild or too hot or too cold or varying wildly from day to day. It’s not clear that this season actually fulfills the second requirement.


5.Vectorcom vs. Cyvox
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Be careful with the language on this one! Know which groups you need to compare. The argument provides data for Cyvox applicants and Vectorcom employees, then draws a conclusion about the employees of both companies. Perhaps Cyvox only hires the people who score the best on the SML-1 test. If so, it’s possible that Cyvox employees actually have higher test scores, on average, than Vectorcom employees.
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In this chapter, you will learn how to identify the different types of CR problems and how to spot common types of traps in the answers.










CHAPTER 3 CR Question Types and Trap Answers



You have spent all of the Critical Reasoning (CR) portion of this book so far discussing arguments. Of course, it is also crucially important to understand the question being asked about that argument.


People make a lot of mistakes when they don’t pay enough attention to the question. Many times, a careless student will read an argument and pick an answer that seems to “go along” with the argument, but the answer does not do what the question specifically asks!


GMAT questions fall into a few broad categories:




	
Questions about assumptions: These include questions that ask directly about assumptions, as well as questions that ask you to strengthen and weaken arguments.


	
Questions about evidence: These questions might ask you to draw an inference or conclusion. Or they might ask you to resolve a discrepancy or a paradox (an apparent contradiction that may not really be contradictory).


	
Questions about structure: These questions will sometimes have two bold statements within the argument and ask you to pick the answer that tells the role of those two statements. Alternatively, a question might ask you how one person responds to another person’s argument.





Decoding the Question Stem


The question stem will tell you what kind of question you have been asked. It’s crucial, therefore, to learn how to decode the various question stems. The most common GMAT CR question types are discussed below; you can find a deeper discussion of these and other less common question types in Unit 2 of this guide.


Here are some sample question stems for Assumption family questions:


1.The argument depends upon which of the following assumptions?


2.Which of the following, if true, most strongly supports the argument above?


3.Which of the following, if true, would most weaken the claim that Vectorcom’s employees are better computer programmers than Cyvox’s?


What is each question asking you to do?


1.The argument depends on which of the following assumptions?


This question asks directly about assumptions. It is important to deconstruct the argument, finding the premises and the conclusion and, if possible, brainstorming assumptions, before reading the answer choices. If you are able to brainstorm assumptions, the task of evaluating the answer choices will be easier.


For the Cyvox vs. Vectorcom argument from the previous chapter, a correct assumption answer might read: “The average score for Cyvox’s employees is not appreciably higher than the average score for all Cyvox applicants.”


2.Which of the following, if true, most strongly supports the argument above?


This question asks you to strengthen the argument. To do so, you must know what the argument’s assumptions are. The correct answer will be a new piece of information that does not have to be true, but if it is true, then the argument is strengthened.


For the Cyvox vs. Vectorcom argument, a correct Strengthen answer might read: “The average score for applicants at a particular company is typically about the same as the average score for those who are eventually hired by that company.”


Notice that this choice doesn’t make the argument definitely true. Strengthen answers will rarely make the argument airtight. Rather, they will introduce a new piece of information that, if true, increases the likelihood that the conclusion is valid. If average applicant scores tend to be about the same as average employee scores, then it is more likely that the argument is valid.


3.Which of the following, if true, would most weaken the claim that Vectorcom’s employees are better computer programmers than Cyvox’s?


This question asks you to weaken the argument. To do so, you must know what the argument’s assumptions are. The correct answer will be a new piece of information that does not have to be true, but if it is true, then the argument is weakened.


For the Cyvox vs. Vectorcom argument, a correct Weaken answer might read: “The average score for applicants at a particular company is typically lower than the average score for those who are eventually hired by that company.”


Notice that this choice doesn’t make the argument definitely false. Weaken answers will rarely destroy the argument. Rather, they will introduce a new piece of information that, if true, increases the likelihood that the conclusion is bad. If average applicant scores tend to be lower than average employee scores, then this explains why Vectorcom would have higher employee scores than Cyvox’s applicant scores, and this diminishes the advantage that the original argument seemed to assign to Vectorcom’s employees.


Here are sample question stems for the two Evidence family questions, along with descriptions of what each type is asking you to do:


4.Which of the following conclusions can most properly be drawn from the information above?


This question asks you to make an inference from the facts given in the argument. The argument itself will not contain a conclusion.


The test writers are not asking you to come up with one of the flawed conclusions that the assumption-type arguments contain. Rather, they are asking you to deduce, or to conclude, something that must be true from the given information. For instance, if last month Meme Corporation both increased its price on its flagship product and sold more units of the product than it had in the prior month, then Meme Corporation’s revenues from this product must be higher last month than the month before.


5.Which of the following, if true, most helps to explain the surprising finding?


This question asks you to explain some kind of contradiction or discrepancy in the information provided. For instance, Meme Corporation sold more units of a particular product this year than last year, but revenues for this product declined. They sold more but revenues went down? What could explain this strangeness? A correct answer might read: “Meme Corporation had to reduce the retail price of this product by 15% due to increased competition.” Ah! Well, if they aren’t making as much money on a per-product basis, then it’s entirely possible for revenues to decline even if they sell more units.


In a paradox question (or a question that mentions a contradiction or discrepancy), there is always a perfectly reasonable explanation for something that looks like a contradiction or impossibility. Pay attention to the exact wording; the subtle differences are often what crack the problem open.


These five question types are among the most commonly tested on the GMAT. There are others, but you can wait to learn those when you feel you’re ready to move to Unit 2 of this guide.



Drill 3.1—Decoding the Question Stem



For each example, determine the question type. Which words most help you to make this determination?





1.Which of the following, if true, casts the most serious doubt on the politician’s argument?


2.The consultant’s statements, if true, best support which of the following conclusions?


3.Which of the following, if true, most helps to explain the apparent discrepancy between increasing incidence of fatal illness and increased life expectancy among the same population?


4.The conclusion drawn above is based on the assumption that . . .


5.Each of the following, if true, provides some support for hiring based in part on results of the personality test described EXCEPT:


Answers are on page 48.



Trap Wrong Answers



The GMAT tries to make things tricky when you get to the answer choices. Sometimes, an incorrect answer is actually going to look better to you than the correct answer will look. How can you spot and avoid such traps?


First, understand how the GMAT sets up the trap in the first place. If you understand how the trap works, you are much more likely to be able to avoid it.


1. Faulty Comparisons


You were first introduced to this idea during the Language Weaknesses discussion (under Flaws in Arguments in Chapter 1). Answer choices can make faulty comparisons, too! Consider some sample answers for this argument that you’ve seen before:


A study of 120 elderly, hospital-bound patients in the United Kingdom showed that daily consumption of Nutree, a nutritional supplement containing vitamins, fiber, and sugar, increased by an average of four months the typical life expectancy for patients of the same age and physical condition. Thus, anyone who wants to live longer should drink Nutree every day.


The argument depends upon which of the following assumptions regarding daily consumption of Nutree?


(A)It is the top method for increasing life expectancy.


(B)Among the people in the study, younger patients achieved a greater increase in life expectancy than older patients.


(C)The demonstrated benefits are not limited to older, institutionalized patients.


One of the answers is correct, but the other two make some type of faulty comparison.


The study tested only elderly, hospital-bound patients, but the conclusion attempts to apply to everyone. The author is assuming, then, that the study results do actually apply to other groups of people than elderly, hospital-bound patients—a match for correct answer (C).


Relative vs. absolute: Answer (A) mistakes a relative statement for an absolute. Yes, Nutree has been shown to increase life expectancy for a certain group of people; in that sense, Nutree is a benefit or a good thing. Is it the best way to increase life expectancy? The argument provides no information to support this extreme statement.


When the argument provides evidence that something is good or better than another thing, that doesn’t necessarily make it the best or only way, nor does it mean that you definitely want to do that good thing. Likewise, evidence that something is bad or worse than another thing doesn’t make it the worst, nor does it mean that you definitely don’t want to do that thing. Be careful not to draw an absolute conclusion when you have been given only relative information.


Note: On Critical Reasoning, don’t automatically cross off an answer just because it contains an extreme word. Think through the logic. It’s entirely possible that an argument would provide support for some kind of absolute outcome; if so, then an extreme word in the answer may be just fine. Check for proof in the text!


Irrelevant comparison or distinction: Answer (B) draws a distinction that is irrelevant for the given argument. The argument never distinguishes between the older and the younger patients in the study group. In particular, the GMAT might do this when the distinction would seem to make logical sense. After all, older patients are less likely to live as long just because they are older. If the argument doesn’t make the distinction, though, then an answer choice that makes such a distinction is a trap.



2. Misinterpret the Argument


If you misread something in the argument, then you are going to have trouble answering that question correctly. One common mistake is to bring in outside or real-world knowledge and incorrectly interpret the conclusion.


For example:


Tuition at Low-Ranked College is $5,000 per semester. Tuition at University of High Rank is $12,000 per semester. Therefore, if I go to Low-Ranked College, I will spend less money to earn my degree.


Which of the following, if true, most seriously undermines the argument?


(A)I’ll get a worse education at Low-Ranked College.


(B)University of High Rank students make an average of $65,000 a year, while students at Low-Ranked College make an average of $32,000 a year.


(C)Fees and books cost $7,800 per semester at Low-Ranked College and $600 per semester at University of High Rank.


What’s the trap? Many people interpret the conclusion as something like “I should go to Low-Ranked College” or “Low-Ranked College is the better choice.” The argument does not say this, however. The argument says only that if you go, then you’ll spend less money to earn your degree.


The trap here is to articulate the incorrect conclusion to yourself. Don’t bring in any real-world knowledge or baggage. Stick closely to the conclusion as written in the argument.


If you articulate the wrong conclusion here, then you might fall for trap answers (A) and (B). Both undermine the (wrong) conclusion that you should go to Low-Ranked College. Only answer (C) undermines the conclusion as given. According to this answer, you’ll pay $12,800 per semester at Low-Ranked College and only $12,600 per semester at University of High Rank.


Try another:


It is true that students who meditate at least once a week do better on the GMAT than those who never meditate. This finding does not show that meditation causes people to do better, since students who meditate are more likely than other students to have adequate time to study.


Which of the following, if true, most strongly supports the argument above?


(A)A person who meditates but has little time to study is more likely to give up other activities to allow more study time than a person who does not meditate and also has little time to study.


(B)Among people who meditate, the more frequent the meditation, the better that person does on the test, on average.


(C)Among the students who have adequate time to study, those who do not meditate do just as well on the test as those who do meditate.


In this case, the author has set up the argument to try to get you to misidentify the conclusion. What’s the trap?


The author acknowledges a fact: Students who meditate at least once a week do better on the GMAT than those who never meditate. The tricky part is the beginning of the next sentence: This finding does not show that meditation causes people to do better.


Yes, that word is bolded for emphasis. This is the trap! Many people have already assumed that the it is true language means that there is a causal relationship, but the author says that there is not a causal relationship. Rather, according to the author, there is some other reason why these two things happen together.


If you get this conclusion wrong, then you’re going to be supporting, or strengthening, the wrong argument. Indeed, trap answers (A) and (B) both support the mistaken conclusion that regular meditation causes someone to do better on the test. These are the opposite of the correct answer.


Answer (C) indicates that the key is having enough time to study in the first place. If you do, then it doesn’t matter as much whether you do or do not meditate. In this scenario, perhaps people who meditate have more time on average to study because they just have more free time in general. After all, they have the time to meditate at least once a week. Therefore, answer choice (C) is correct.


Finally, did you note that incorrect answer (B) also tossed in an irrelevant comparison? The argument compares never meditating to meditating at least once a week. It doesn’t distinguish between those who meditate a little and those who meditate a lot.


The wording of a question stem might also cause you to articulate the incorrect conclusion. For instance, what if the Low-Ranked College question had asked:


Which of the following, if true, most seriously supports a claim that a degree from Low-Ranked College will not cost less than a degree from University of High Rank?


Say what? That sentence is seriously confusing! The question stem gives a different conclusion than the one in the argument: In this case, the question stem claims that a degree from Low-Ranked College will not cost less, and you’re asked to support this claim. This is the same thing as undermining the original conclusion given in the argument. If you support, or undermine, the incorrect conclusion, you’re going to get the question incorrect.


Another common mistake is to misinterpret the question stem, or simply to get turned around, and answer the wrong question. It can be easy during the stress of the test to get turned around; make sure that you write down S for Strengthen or W for Weaken (or some similar abbreviations) so that you don’t mistakenly pick a Weaken answer when the question asked you to Strengthen.


3. Superficial Word Matches


Have you ever had this happen? You narrow down to two answer choices, but you don’t know how to choose between them. One of them feels better, though, because many of the words in the answer choice match directly with language from the argument, while the other one doesn’t match so exactly. So you pick the one that matches better . . . and later you discover that you fell into a trap.


If the GMAT made every correct answer feel like a perfect fit, then way too many people would be answering hard questions correctly. How do they get you to cross off the correct answer or at least contemplate doing so?


Try this problem out; when you’re done, see if you can articulate why the correct answer is designed to sound less appealing than at least one of the incorrect answers:


Researcher: People who study for 30 minutes a day aren’t as likely to reach their goal score on the GMAT as those whose study sessions last 90 minutes a day. But those who study for more than 5 hours a day are less likely to reach their goal score on the GMAT than those who study for less than 5 hours a day. So everyone should study for more than 90 minutes a day but less than 5 hours a day.


Which of the following, if true, most seriously weakens the conclusion above?


(A)In some cases, daily study periods of an hour are sufficient to allow the student to achieve his or her preferred result.


(B)The length or quantity of a student’s study is less important than the quality of that study.


(C)When studying is split among multiple sessions in a day, taking a break of 90 minutes or more between sessions can result in a failure to reach one’s goal score.


Did you spot the trap or fall into it?


Let’s start with trap answer (B). It might be true that quality of study is more important than quantity of study, but the argument addresses only length of study. This choice makes an irrelevant distinction between two types of study, one of which is never addressed in the argument.


The next trap answer is (C). Look at all the exact language matches between the passage and the answer choice: sessions [in] a day, 90 minutes, reach [one’s] goal score. So what’s the problem?


The 90 minutes referred to here is not the same 90 minutes referred to in the argument. In the answer, the 90 minutes represents a break, not study time. It’s possible for someone to study for 15 minutes, take a 2-hour break, and then study for another 15 minutes. It’s also possible for someone to study for 90 minutes, take a 90-minute break, and then study for another 90 minutes. According to the argument data, the first person studied a non-optimal length of time and the second person studied an optimal length, yet both match the language in trap answer (C): They split their studies into multiple sessions and took breaks of 90 minutes.


Why is it tempting to eliminate correct answer (A)? First, it uses some synonyms instead of direct language matches: daily instead of a day; study periods instead of study sessions; preferred result instead of goal score. All of the choice’s words are valid synonyms, though: They mean the same thing as the words in the argument! Further, this choice talks about a one-hour time frame, which is not mentioned in the argument.


Logically, though, the information about this one-hour time frame does weaken the argument! If some people can reach their goal scores by studying only one hour a day, then the claim that everyone should study at least 90 minutes a day is weakened. By contrast, trap answer (C) doesn’t fit logically, since anyone studying any length of time could take 90-minute breaks.


Dealing with the superficial word match trap is tricky, since sometimes the correct answer really does match the language of the argument. Your first line of defense is to think about the actual logic of the information and how it fits with the argument. When this doesn’t work, though, and you find yourself with two answers that both seem okay, one with exact language matches and one with synonyms, take two steps:


1.Check the synonyms to make sure that they’re valid based on the information given in the argument. If not, eliminate this choice.


2.If the synonyms are all valid, guess this choice, on the theory that the trap is to get someone to fall for the other answer: superficial word matches with faulty logic.



Drill 3.2—Spotting the Trap Answers



Test out what you’ve just learned. Give yourself approximately two minutes per question to try each of the full Critical Reasoning problems in this set. Note: You have seen some of the arguments before.


1.For the violence in Kirkenberg to be stopped, the majority of surrounding nations must vote to send in a peacekeeping force, and the wealthy nation of Nandia must provide funding. If Nandia becomes involved in any way regarding Kirkenberg, at least half of the nations surrounding Kirkenberg will vote against intervening in Kirkenberg.


The claims above most strongly support which of the following conclusions?


(A)Nandia is the wealthiest nation in the region surrounding Kirkenberg.


(B)Violence in Kirkenberg is likely to result in unrest in other countries in the region.


(C)It is unlikely that the violence in Kirkenberg will be stopped.


(D)Most nations surrounding Kirkenberg oppose the current leadership in Nandia.


(E)The peacekeeping forces would not have sufficient equipment without financial support from Nandia.





2.The Urban Apartment Towers complex has seen a number of police visits to the property recently, resulting in the police breaking up loud parties held by young residents and attended by other young people. These circumstances are hurting the complex’s reputation and ability to attract new residents. To reduce the number of police visits and improve profitability, management plans to advertise its vacant apartments in a local publication for people aged 50 and up.


Which of the following, if true, would cast the most doubt regarding the effectiveness of the management’s plan?


(A)No recent police visits to Urban Apartment Towers have been to the apartments of residents over the age of 50.


(B)A substantially cheaper apartment complex may be built in a neighboring town.


(C)Residents over the age of 50 are more likely to call police in circumstances in which young people would not call.


(D)A nearby condominium complex of similar size had far fewer police visits last year than Urban Apartment Towers.


(E)People over 50 are much more likely than young people to host parties with fewer than 10 guests.





3.Lexton University began offering Biology 101 courses online as well as in a traditional classroom setting. Students in all sections of the course were given the same final exam. On average, the students in the online sections received higher scores on the final exam than students in the traditional classroom-based sections. Therefore, the students in the online sections learned more about biology than did students in the classroom-based sections.


The argument above is based on which of the following assumptions?


(A)Final exam scores accurately represent how much students learned about biology.


(B)Most current Lexton students report that they would be interested in taking some but not all of their courses online.


(C)Students from Burbain College who took only online accounting courses scored better on the accounting licensing exam than students who took only traditional classroom-based accounting courses.


(D)Lexton University should begin offering other introductory courses online.


(E)In post-course surveys, the students enrolled in the online sections reported studying an average of two more hours per week than students in the classroom-based sections.





4.A plastics factory next to Hullson River dumps its waste, which contains a certain toxin, directly into the river. The amount of waste the factory dumps into the river is directly proportional to the amount of plastic the factory produces. This year, the factory produced 50% more plastic than last year. Yet measurements taken 50 yards downstream of the waste dump site show that concentrations of the toxin were significantly lower than they were at the same site last year.


Which of the following, if true, does the most to explain the surprising finding?


(A)The factory is considering adopting a production technique that would drastically reduce the amount of the toxin produced.


(B)Unseasonably heavy rains have increased the volume of water in Hullson River by 75%.


(C)In studies, high concentrations of the toxin in water have been shown to inhibit certain species of fish from laying eggs.


(D)When the plastic factory produces more plastic, the concentration of the toxin within the waste dumped into the river increases.


(E)Another factory, located upstream from the plastics factory, produces waste containing a different toxin and dumps that waste into the river.





5.In Mountain Village, the frequency of bears entering residential neighborhoods has recently increased due to a shortage of food in the forest in which the bears live. In order to track the locations that the bears visit, Mountain Village has set up a special phone number that residents are asked to call if they see a bear in a residential neighborhood.


Which of the following, if true, most strongly supports the claim that the plan will have its intended effect?


(A)A neighboring town decreased bear entries into residential neighborhoods by installing trash cans with specially designed lids that bears cannot open.


(B)The new phone number that residents are asked to call has not been widely publicized.


(C)Bears generally pose no threat to humans although they may behave aggressively toward small domestic animals.


(D)Residents have been educated as to how to scare the bears away without making them more aggressive.


(E)Bears generally enter residential neighborhoods during the daytime hours when many residents are outside.


Answers are on pages 48–52



Answers to Drill Sets



Drill 3.1—Decoding the Question Stem


1.Weaken (cast doubt is a synonym for weaken).


2.Inference. Careful! The word support makes this seem like a Strengthen question. Note what you’re supporting though: one of the following conclusions. Where are those conclusions located? In the answer choices! You’ll need to infer, or deduce, what must be true from the information given in the argument.


3.Explain a discrepancy. Pick the answer that resolves the discrepancy by providing a reasonable explanation for what looked, at first, like a contradiction.


4.Assumption. The question asks you to find something that the author assumes in drawing his conclusion in the argument above.


5.Strengthen (EXCEPT). This is a tricky one. In this case, the word support does signal a Strengthen question because the question itself tells you the conclusion to support (you should base part of your hiring decision on this personality test). If a question asks you to support a conclusion given in the argument or question stem, then it is a Strengthen question. If a question asks you to support a conclusion given in the answer choices, then it is an Inference question.


In addition, this is an EXCEPT question. Four of the answers will strengthen the conclusion; these four answers are all incorrect. One answer will not strengthen the conclusion. This answer will not necessarily weaken the conclusion; it might do nothing at all to the conclusion. This answer is the correct one.


Drill 3.2—Spotting the Trap Answers


1.(C) It is unlikely that the violence in Kirkenberg will be stopped: You saw this argument before.


The question asks you to support a conclusion found in the answer choices, so this is an Inference problem.


Sketch out what you know:
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In order for the violence to stop, two things must happen: 1) At least 50% of surrounding nations have to vote to send in a peacekeeping force, and 2) Nandia has to provide funding. But if Nandia does actually provide that funding, then at least half of the other nations will vote against sending in the peacekeeping force.


What must be true, given this information? On the one hand, Kirkenberg needs funding from Nandia. On the other, if it gets that funding, then it won’t have 50% or greater support from the surrounding nations for the peacekeeping force. Things don’t look good for Kirkenberg. Answer (C) is correct: It looks pretty unlikely that the violence in Kirkenberg can be stopped.


Answer (A) goes too far with the word wealthiest. Nandia is described only as wealthy, not the wealthiest. Answer (B) goes beyond the scope of the argument; no information is provided as to what may happen in other countries.


Answers (D) and (E) both introduce information that goes beyond what the argument discusses. On Inference questions, stick tightly to the information presented. Don’t bring in outside information. Answer (D) talks about the current leadership and answer (E) talks about equipment, neither of which is addressed in the argument.


2.(C) Residents over the age of 50 are more likely to call police in circumstances in which young people would not call: You saw this argument in a previous chapter.


The question asks you to cast doubt on the plan, or weaken the argument.
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What is the plan? There have been a bunch of loud parties held and attended by young people and the police have been called. The complex is getting a bad reputation and having trouble attracting new residents. The plan is to advertise to people aged 50 and up in order to reduce the number of police visits and improve profitability. What assumptions is the author making, and how might these assumptions weaken the argument?


The author assumes older people won’t also have loud parties; however, maybe people over 50 have the loudest parties of all. That would certainly weaken the argument. The author also assumes older people are going to want to move into a complex with a bad reputation for loud parties and police visits. The part about profitability is also a big leap: Why will having older residents improve profitability?


If older people do move in, and they are also more likely to call the police over various issues, as answer (C) states, then bringing in older residents makes it less likely that management’s plan to reduce the number of police visits is going to work.


If answer (A) is true, it might actually strengthen the assumption that older people don’t have loud parties. Answer (B) doesn’t address the management’s plan for Urban Apartment Towers specifically.


Answer (D) is a faulty comparison: The size might be similar, but the residents’ ages might be far different, the layout of the complex might be different enough to minimize noise, and so on.


Answer (E) matches a lot of the language from the argument, but the meaning of those words is off. Plus, if anything, this might actually strengthen the argument by showing that older people typically have smaller parties (though you’d also have to assume that smaller parties are quieter parties, which isn’t a given).


3.(A) Final exam scores accurately represent how much students learned about biology: This is a brand-new argument.


The question asks you to identify an assumption made by the author.
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LU offers the same class both online and in a traditional classroom. On the final exam, the online students did better than the others. The argument concludes that the online students learned more during the course. What is the author assuming?


She assumes that a higher final exam score actually means they learned more during the course. Maybe, for some reason, those students knew more about biology before the class started. Maybe they’re better at taking tests in general. Maybe they cheated!


Answer (A) matches the assumption.


Answers (B) and (D) don’t address the actual events that occurred. Note that (D) follows from the conclusion: If it really is the case that people learn better online, then maybe it would be a good idea for Lexton to offer more online classes. The question didn’t ask this, though; the question asked you to find an assumption used to draw the conclusion.


Answer (C) is an irrelevant comparison. While data from another college showing that students learned more from an online course might help the argument, note that this choice does not actually say the online Burbain students learned more in their accounting course. The choice shows the same data that Lexton presented: Certain students did better on an exam, but who knows why they did better?


Answer (E) sounds good. If the online students studied two more hours per week, then it makes sense that they did better. But this is a trap; the choice is too specific. Remember, the question asked: What is the author assuming to be true? The author does not have to assume that the students studied an average of two hours more, specifically. They could have studied one hour more on average or three hours more on average, or any other number. The online students could even have studied less if they studied more efficiently!


4.(B) Unseasonably heavy rains have increased the volume of water in Hullson River by 75%: This is another new argument.


The question asks you to explain a surprising finding. This is an Explain a Discrepancy question.
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The plastics factory dumps waste, including a specific toxin, straight into the river. It produced more plastic this year so, according to the argument, it should also be dumping more waste. But measurements show that there’s a lot less of the toxin in the river this year than last year. How come?


The argument doesn’t say that the amount of the toxin A produced is directly proportional to the waste produced. Maybe the factory did have more waste but it changed something in its manufacturing process (or something else) and that reduced how much of the toxin was produced? Or maybe the equipment used to measure the toxin levels changed or is faulty somehow?


It turns out to be another explanation entirely. Answer (B) indicates that it’s been raining a lot, which significantly increased the amount of water in the river. The argument says that the concentration levels were measured, or the percentage of the toxin in the water. But if the water volume is much higher, then the concentration levels could go down even if there’s just as much (or more!) of the toxin in the water this year as last year. If you add a teaspoon of salt to a cup of water, that water is going to taste a lot saltier than if you added a teaspoon of salt to a gallon of water.


Answer (A) might explain a future reduction in the toxin, but the argument is discussing what has already happened. Answers (C) and (E) are irrelevant; you need to explain the surprising info about the original toxin, not something about fish laying eggs or anything about a different toxin.


Answer (D) might look good because it matches a lot of the language from the passage, but be careful! It is actually the opposite of what you need. If it’s the case that more production of plastic leads to more of the toxin, then the finding that the concentrations have decreased is even more surprising. Your task is not to show why something is surprising. Your task is to explain, or to resolve, that discrepancy.


5.(E) Bears generally enter residential neighborhoods during the daytime hours when many residents are outside: This is another new argument.


The question asks you to strengthen the plan. What is that plan?
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Because of a food shortage, a lot more bears are coming into the neighborhoods (abbreviation: nbrhd). The village is asking people to call in when they see a bear so that the village can track the location of the bears.


What is the author assuming? First, the author assumes that people will actually see the bears. What if the bears hide among the trees and bushes or only come out at night? Second, the author assumes that people will pick up the phone and call. Perhaps the residents just don’t care.


Answer (E) fits one of the assumptions: If the bears come during the daytime hours and residents are often outside at that time, then it’s more likely that they’ll actually see the bears.


Answer (A) goes after the wrong conclusion. The village isn’t trying to stop the bears from coming (at least not yet). The stated goal is just to track the location of the bears. Answer (D) is similarly tempting: If you run into a bear, it would definitely be helpful to know how to scare it off! This still isn’t the goal of the plan, though.


Answer (B) weakens the argument; if people don’t know the number, how can they call, even if they see a bear?


Answer (C) might explain why the village wants to track the bears’ locations, but it does not address whether the plan will work.
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In this chapter, you will practice everything you have learned so far about CR.










CHAPTER 4 Putting It All Together on CR



It’s time to test your new skills using a full drill!


This set is designed both to test you on what you’ve learned and to stretch your brain a bit. You learned about some of the question types in the preceding chapters. Others are types you haven’t learned about yet! Do your best, and consider this your introduction to the next level of CR study.


In Unit 2 of this guide, you will learn about the full set of CR problem types, including strategies for deconstructing complicated arguments, eliminating trap answers, and identifying tricky correct answers.


Drill 4.1—Critical Reasoning “Hints”


The following drill contains 10 Critical Reasoning problems, representing a variety of question types.


Every problem is followed by one or more hints. If you don’t feel that you need a hint, then go ahead and answer the question without looking at the hints.


If you do want a hint, read them one at a time. If you don’t need them all, don’t use them all! Read only as much as you need to have an idea of what to do next.


1.President of Teachers’ Union: Many people are convinced that declining test scores in our district are the fault of teachers. Yet our school district has recently seen a large influx of enrolling students who do not speak any English at all. Nearby districts that have seen a similar influx of students who do not speak English have all experienced much larger drops in test scores. It is a testament to the skill and dedication of our teachers that test scores in our district have dropped so little.


The bold statement in the argument plays which of the following roles?


(A)It is the main conclusion of the argument.


(B)It is a finding that the argument seeks to explain.


(C)It introduces an explanation that the argument seeks to refute.


(D)It provides support for the main conclusion of the argument.


(E)It is a judgment that the argument corroborates.


HINT #1: Try to answer this question in your own words before you read the answer choices. In order to do so, it will help to diagram.


HINT #2: Try to label each piece of information using the CR building block categories.


HINT #3: What is the conclusion? How does the boldface information relate to the conclusion?


2.The drug Nephoprene is the only drug proven to help certain harmful medical conditions, but it also has serious side effects. Doctors are responsible for weighing the benefits of a drug against the possible harm to the patient from side effects, and most doctors have chosen not to prescribe Nephoprene even to patients who would experience benefits.


The considerations given best serve as part of an argument that


(A)Nephoprene will not cure patients


(B)most doctors have determined that the side effects of Nephoprene outweigh the benefit


(C)patients who want to take Nephoprene are not able to obtain prescriptions for it


(D)not all patients with medical conditions that can be helped by Nephoprene will actually experience benefits when taking it


(E)most drugs have some side effects, whether mild or more serious


HINT #1: The considerations given best serve as part of an argument that indicates that the answer choices contain an argument. The word argument is a synonym for conclusion.


HINT #2: If the answers contain conclusions, then the question is an Inference question.


HINT #3: On Inference questions, your task is to find an answer that must be true based on the information from the argument.


3.A candidate for governor has suggested repealing the state law requiring cigarette advertisers to print a warning label about the dangers of smoking on every cigarette pack. He suggests a new law requiring cigarette manufacturers to publish recent data and studies about the dangers of smoking on websites that the manufacturers will create for this purpose. The candidate argues that the plan will provide consumers with more detailed information so that they may make better decisions about smoking.


The argument assumes which of the following?


(A)It is harder to break an addiction to alcohol than to cigarettes.


(B)Consumers are willing and able to visit the websites and evaluate the data and studies presented.


(C)Competing candidates for governor have not introduced the same or a superior plan relating to cigarette warnings.


(D)Most people are not able to break their addictions to cigarettes.


(E)Smoking will become more popular if this plan is not enacted.


HINT #1: This is an Assumption question.


HINT #2: Your task on Assumption questions is to find something that fills the gap between the author’s premises and the author’s conclusion. What is the author assuming to be true in drawing his conclusion?


HINT #3: This argument is a plan. In general, the author assumes the plan will work as stated. What are the weak points in the plan?


4.Researchers have noted that panda bears that have given birth to live offspring live longer in the wild. Therefore, these researchers have concluded that giving birth to live offspring increases a panda’s lifespan.


The argument makes which of the following assumptions?


(A)Pandas that have given birth to live offspring will not be killed by predators.


(B)Since male pandas cannot give birth, female pandas live longer than male pandas.


(C)Pandas that are already likely to live longer are not more likely to give birth to live offspring.


(D)Female pandas are not likely to die while giving birth.


(E)Pandas that have given birth to multiple live offspring are likely to live even longer than pandas that have given birth to only a single live offspring.


HINT #1: This is an Assumption question.


HINT #2: Your task on Assumption questions is to find something that fills the gap between the author’s premises and the author’s conclusion. What is the author assuming to be true in drawing this conclusion?


HINT #3: In the sequence of events, what causes what?


5.Newspaper editorial: It is important that penalties for adults dealing drugs on school grounds remain extremely severe. If the penalties became less severe, more students would become addicted to drugs.


Which of the following is an assumption that supports drawing the conclusion above from the reason given for that conclusion?


(A)Drug dealers are already being deterred from drug dealing on school grounds due to the penalties currently in place.


(B)Drug use is harmful to the academic careers of students.


(C)Drug dealing on school grounds is punished more harshly than drug dealing off school grounds.


(D)Those who deal drugs on school grounds are not employees at those schools.


(E)There is a significant chance that some of those addicted to drugs will ultimately die from drug-related causes.


HINT #1: This is an Assumption question.


HINT #2: Your task on Assumption questions is to find something that fills the gap between the author’s premises and the author’s conclusion. Can you brainstorm anything that the author is assuming to be true?


HINT #3: This argument is a plan. In general, the author assumes the plan will work as stated. What are the weak points in the plan?


6.In the last 10 years, usage of pay phones in Bridgeport has dropped by 90%. Since cell phone usage is much higher among middle- and upper-income residents of Bridgeport than among lower-income residents, the Bridgeport City Council has decided to remove pay phones from middle- and upper-income neighborhoods, while retaining those in lower-income neighborhoods. The council’s reasoning is that this plan will respond appropriately to demand for pay phones and thereby inconvenience very few people.


Which of the following, if true, would most strongly support the claim that the plan to retain pay phones only in lower-income neighborhoods will have the intended effect?


(A)In certain areas, pay phone usage has dropped only 50%–60% over the past 10 years.


(B)Middle-income residents are more likely to use pay phones than high-income residents.


(C)Some lower-income residents do use cell phones.


(D)People who need a pay phone are most likely to use one within two miles of their home.


(E)Eliminating pay phones would save the city money.


HINT #1: This is a Strengthen question.


HINT #2: Your goal on Strengthen questions is to find a new piece of information that, if true, would make the conclusion at least a little more likely to be valid.


HINT #3: Can you brainstorm any assumptions before looking at the answer choices?


7.The Orange Corporation is conducting market research in preparation for the launch of its new device, the 3-D eSlate. Thus far, in Orange’s market research, two groups have emerged as likely buyers of the eSlate: medical professionals and people making more than $250,000 a year. Since the number of medical professionals in the target market plus the number of people making more than $250,000 a year in the target market is over 20 million people, and since Orange typically achieves a sales rate of 25% or more in its target markets, Orange will sell over 5 million units of the eSlate.


Which of the following, if true, would most weaken the author’s conclusion?


(A)Nearly 45% of medical professionals in the target market have already purchased a similar product from a competitor.


(B)The eSlate has many more uses for education professionals than for medical professionals.


(C)Many people with astigmatism and other vision problems will have trouble using the 3-D features of the eSlate.


(D)Many medical professionals make more than $250,000 a year.


(E)People who make more than $250,000 a year buy more electronic devices than people who make less than $250,000 a year.


HINT #1: This is a Weaken question.


HINT #2: Your task is to find a new piece of information that, if true, will make the argument a little less likely to be valid. You do not need to destroy the argument.
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